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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 - 20 912 12 3.5 20 60.1 100

21 908 2 1.1 4 50.6 99.6
22 898 1 0.9 2 50.6 98.5
23 880 0.5 0.6 2 25.5 96.5
24 908 3.6 1.7 6 59.5 99.6
25 911 4.5 1.7 8 55.9 99.9
26 901 2.9 1.9 8 36.6 98.8
27 881 0.6 0.8 2 31.4 96.6
28 891 3.6 1.9 8 44.8 97.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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25 With the aid of a diagram discuss the case for cutting the top rate of tax  from 45% 
to 40%.   [8] 
 


Band 
AO1  AO3 AO4 


2 marks 2 marks 4 marks 


 


Has the Laffer curve (or AD/AS 
diagram) been accurately drawn 


and used? 


Has a sound 
analysis of either the 
costs or benefits of a 


tax cut been 
developed? 


Have effective counter-
arguments been 


explained? 


2 


2 marks 


Good understanding. 
 
Laffer curve is accurately drawn and 
is actually used – points on both 
axes are used to illustrate the 
reduction in tax either increasing or 
reducing the overall tax yield. 
 
Or 
 


A really well developed AD/AS 
diagram is used and fully 
understood in terms of the demand 
and supply side effects of a tax cut. 
 


2 marks 


Good analysis. 
 
At least one point 
has been well-
developed on one 
side of the debate 
with a clear link as to 
why tax revenue will 


either rise or fall. 
 


3-4 marks 


Good evaluation. 
 
At least one point has 
been well-developed on 
the other side of the 
debate with a clear link as 
to why tax revenue will 


either rise or fall. 
 
Or 


 
Evaluative points 
unrelated to tax revenue 
are made (widening 
income inequality etc) and 
these points are well-
developed in terms of why 
they are good or bad. 


1 


1 mark 


Limited understanding. 
 
An accurate Laffer curve is drawn 
but unused.  
 
Or 
 


A Laffer curve with significant 
labelling errors is drawn but is used 
well to support the analysis. 
 
Or 
 


An AD/AS diagram is used, but 
shows understanding of only 
demand or supply side effects. 
 


1 mark 


Limited analysis. 
 
Points are made, but 
none of them link 
convincingly to tax 
revenue (although 
the points in 
themselves have 
some development). 


1-2 marks 


Limited evaluation. 
 
Points are made but lack 
development (either in 
terms of how they affect 
tax revenue or in terms of 
why they are otherwise 
good or bad). 


0 
0 marks 


No understanding shown. 
0 marks 


No valid analysis. 
0 marks 


No valid evaluation. 
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Indicative content: 


 
AO1: See grid 


 
 


 
 
AO3/AO4 (reversible – so points on one side can be treated as evaluation of the other. 


 
For the cut: 


 
The cut to 45p resulted in an increase in the overall tax revenue. This could be because the 
cut in the top tax rate meant that there was less incentive to avoid/evade tax or that fewer 
people decide to relocate abroad etc. (not live on benefits!).  
 
Analysis might look at the impact in terms of income and substitution effects (lower tax rates 
create incentive to work harder, resulting in greater tax revenue, but a reduced need to do 
so, maybe resulting in lower tax revenue). 
 
Higher tax revenue as a result of the tax cut will enable the government to spend more on 
health, education etc. 
 
The cut may increase AD, stimulating short run growth. 
 
The cut may create an incentive to enterprise and hard work, meaning that potential growth 
will increase in the longer term as well as increasing the tax base i.e. AS shifts to right. 
 
Against the cut 


 
The cut from 50% to 45% may have reduced the top rate sufficiently so that a further 
reduction will simply result in a reduction in tax revenue. 
 
The cut benefits top income earners having a regressive effect on the tax system overall an 
effect which will be more pronounced if tax revenue falls and spending cuts are implemented 
as a result. 
 
Effects on AD/AS may be relatively limited – affects only a relatively small number of people 
many of whom have a low marginal propensity to consume. Additionally, there is some 
suggestion that higher taxes on top income earners may incentivise them to work harder to 
maintain their post-tax income (income and substitution effects again). The relative strengths 
of the substitution and income effects are introduced. 
 












3 marks.



No attempt at evaluation.
AO4: 0



Some unconvincing analysis that governments would want to cut tax rates to gain the highest revenue they can.
AO3: 1



Accurate drawing of the Laffer curve and referenced in the answer. 
AO1: 2








Diagrams are good and used effectively in the text of the answer 
AO1: 2



Analysis of why the tax revenue might rise following a tax cut – reference to less evasion.
AO3: 2







6 marks.



Evaluation focusses solely on revenue effects and is rather narrow.
AO4: 2












6 marks.



A good diagram which was used effectively. 
AO1: 2



Good analysis of the benefits of cutting the tax rate with rising revenues linked to less avoidance and evasion.
AO3: 2



Rather brief and narrow evaluation on what the optimal tax rate may be.
AO4: 2
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25. SLASH TOP TAX RATE TO 40%, OSBORNE TOLD


George Osborne last night faced fresh calls to cut the top income tax rate after it emerged 
that reducing it to 45% from 50% raised an extra £8bn. Figures released by HM Revenue and 
Customs yesterday revealed a huge rise in the amount paid in tax by high income earners 
following the Chancellor’s decision to reduce the top rate of tax from 50%.


With the aid of a diagram discuss the case for cutting the top rate of tax from 45% to 40%.	 [8]
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26 With reference to the quantity theory of money and the above, assess the possible 
inflationary effects on the UK economy of the changes in the rate of growth of the 
money supply shown. [8] 
 


Band 
AO2 AO3  AO4 


2 marks 2 marks 4 marks 


 


Has the data been well used? 


 


Has the quantity theory 
been well explained? 


Has the strength of the 
relationship been fully 


discussed? 


2 


2 marks 


Good application. 
The graph is used thoughtfully 
and forms a central part of the 
answer. 


2 marks 


Good analysis. 
The quantity theory has 
been well used showing a 
clear line of reasoning to 
explain how the growth in 
money supply might lead 
to inflation under certain 
circumstances. 


3-4 marks 


Good evaluation. 
Strong well developed 
evaluation, probably 
covering both theoretical 
and practical reasons 
that the money supply 
growth might not be 
inflationary. 


1 


1 mark 


Limited application. 
The graph is used occasionally, 
but is really just of peripheral 
importance. 


1 mark 


Limited analysis. 
Some explanation of the 
quantity theory is present, 
explaining why rising 
money supply might 
trigger rising inflation, but 
without an understanding 
of the assumptions of the 
model. 


1-2 marks 


Limited evaluation. 
Evaluation is present but 
points tend to be 
underdeveloped, lacking 
the depth for a top band 
answer. 


0 
0 marks 


No valid application. 
0 marks 


No valid analysis. 
0 marks 


No valid evaluation. 
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Indicative content: 
 
AO2: 


 
Money supply is growing more quickly now than it was back in 2010-11 suggesting that there 
is a greater inflationary threat (6% vs 2-3%). 
 
Recent trend seems to be upwards, heading above 6% in early 2016. This is likely to be far 
greater than the UK’s potential growth, suggesting an inflationary threat. 
 
Money supply growth has been steady at 5% and over since 2012, suggesting that it is not 
just a temporary phenomenon. 
 
 
AO3: 
 
Other things being equal, the quantity theory suggests that an increase in M with V and 
T/Q/Y unchanged (or T only able to change slowly) will create inflationary pressure. 
 
Rising money supply, should lead to higher AD either directly or indirectly, or may be 
symptomatic of rising AD itself, which could again create inflationary pressure. 
 
 
AO4: 


 
But V and T/Q/Y are unlikely to be constant:  
 
V may fall as a result of bank weakness or low confidence levels reducing the inflationary 
impact of a rise in the money supply. 
 
T/Q/Y may be able to expand (a) because of supply side improvements or (b) because of 
spare capacity in the economy (which may well exist in the UK with unemployment still high). 
 
There may be deflationary pressures occurring elsewhere in the system – e.g. continually 
falling oil prices which will negate inflationary effects of rising money supply. 
 
Inflationary expectations are likely to be very low in the UK as a result of recent deflationary 
pressures in the economy. 
 
UK inflation in recent years has been very subdued despite money supply growth of 4%-5% 
per year. 
 


Answers which rely entirely on an AD/AS approach without reference to the quantity theory 


of money max 2 marks. 


1 MS Summer 2017/GH 












Limited use of the data.
AO2: 1



Very limited analysis with some link between the growth of the money supply and aggregate demand (use of diagram). No mention of the Quantity theory of money.
AO3: 1







2 marks.



No attempt at evaluation.
AO4: 0












Data could have been used more effectively. 
AO2: 1



Good analysis of the correct theory although a little too detailed for a short question.
AO3: 2







5 marks.



Keynesian counter-argument introduced and briefly explained but more needed. 
AO4: 2












Limited use of the data.
AO2: 1



Good analysis of how a rise in the money supply causes inflation using MV=PT.
AO3: 2




A good evaluation of MV=PT using QE as an example.
AO4: 3







6 marks.
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26.	 Study the data on changes in the UK money supply in the chart below.
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	 With reference to the quantity theory of money and the above data, assess the possible 
inflationary effects on the UK economy of the changes in the rate of growth of the money supply 
shown.	 [8]
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28 Discuss how likely it is that a country meeting any two out of the three criteria above 
is manipulating its currency unfairly. [8] 


Band 


AO1  AO2  AO3 AO4 


2 marks 2 marks 2 marks 2 marks 


 


How good is the 
understanding of 


currency 
manipulation? 


How well have the 
criteria been applied? 


How strong is the 
analysis of how the 
criteria might show 


unfair currency 
manipulation? 


Have effective 
counter-arguments 
been explained? 


2 


2 marks 


A good 
understanding of 
currency 
manipulation showing 
an awareness of 
what this means and 
how it might be done. 


2 marks 


Good application of 
the criteria to unfair 
currency manipulation. 
  
Answers may show 
clearly how the criteria 
selected might or 
might not show 
currency manipulation, 
and may make 
reference to some of 
the countries that the 
US has named. 


2 marks 


Good analysis of 
the link between 
currency 
manipulation and 
the criteria showing 
a clear line of 
reasoning. 
 
Answer explains 
how the third 
criteria is likely to 
lead to the other 
two. 


2 marks 


Good evaluation of 
the scenario, 
probably suggesting 
that meeting two of 
the criteria is not 
enough in itself to 
prove currency 
manipulation or 
criticising individual 
criteria in depth. 


1 


1 mark 


A limited 
understanding of 
currency 
manipulation showing 
partial understanding 
of what it is and how 
it might be done. 


1 mark 


Limited application of 
the criteria to currency 
manipulation. Answer 
probably does not 
make reference to any 
of the countries and 
does not apply the 
criteria well. 


1 mark 


Limited analysis of 
the link between 
currency 
manipulation and 
the criteria. 
 
Answer explains 
some of the criteria 
but the depth of 
analysis and chain 
of reasoning is 
insufficient for band 
2. 


1 mark 


Limited evaluation 
of the scenario, 
suggesting that the 
criteria are 
insufficient but 
lacking depth of 
supporting evidence 
for the statement. 


0 


0 marks 
No understanding 
shown. 


0 marks 
No valid application. 


0 marks 
No valid analysis. 


0 marks. 
No valid evaluation. 
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Indicative content 


 
AO1 


 
Currency manipulation involves holding a currency below its free market level, generally by 
selling domestic currency on forex markets to buy foreign currency creating excess supply 
and holding down the exchange rate. 
 
AO2 
 
Effective use of the criteria: 
 
Criterion 3: Persistent one sided selling of currency fits the definition of currency 
manipulation very closely, the key being ‘one sided’. Countries that intervene to stabilise 
their currencies in either direction are excluded, suggesting that a deliberate policy of 
targeted selling is being carried out. 
 
Criteria 2 and 3: These work together to show that the currency is being manipulated unfairly 
because the effect is a significant trade surplus for the offending country. Hence the 
numerical criteria are designed to give a sense that the surplus is large and unfair. 
 
A trade surplus should cause the exchange rate to rise. If it doesn’t do so, this could be 
evidence of currency manipulation, although other things can prevent a currency from rising 
other than central bank intervention. 
 
Countries: 
 
Germany can’t manipulate its currency because it isn’t the one determining its value. 
China has openly admitted to intervening in currency markets, but generally claiming to be 
avoiding destabilising flows of hot money. 
 
AO3 


 
Good analysis of the link. 
 
Answer links the criteria together, arguing that persistent one-sided intervention will push 
down the exchange rate as surplus domestic currency floods the market. Good answers may 
use a diagram to illustrate this. Hence the currency is prevented from reaching its free 
market level. 
 
The effect of this is to make export prices more competitive and drive up import prices 
therefore resulting in an unfair trade surplus. 
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AO4 


 
Evaluation might focus on: 
 
(1) Meeting criteria 1 and 2 does not necessarily imply currency manipulation at all. The 


country may have a strong supply side and simply be very competitive in global 
markets (Germany?).  


 
(2) Countries can sell currency to prevent excessive appreciation of their currency, 


stabilising the exchange rate. This might not amount to currency manipulation in the 
way that the US suggests (e.g. Switzerland). 


 
(3) Might centre on the word ‘unfair’. Arguably the US has weakened the dollar through 


its programme of QE and therefore countries are doing no more than redressing the 
balance. 


 
(4) Alternatively the issue might be more that the dollar is overvalued with financial 


account inflows into the US banking, equity and property markets causing a trade 
deficit. 


 
(5) Countries may be have a fixed exchange rate system meaning that intervention in 


currency markets is necessary. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 












There is some understanding of what is meant by currency manipulation and how it leads to cheaper exports. 



Application of the criteria and analysis of the link between currency manipulation and the criteria are very limited with no attempt at evaluation.  

AO1: 1 
AO2: 1 
AO3: 1 
AO4: 0







3


3 marks.












Good knowledge and understanding of how manipulation of the exchange rate can result in a trade surplus.
AO1: 2







6 marks.



Limited application of the criteria to currency manipulation.
AO2: 1

Closer analysis with the criteria needed.
AO3: 1



Evaluation unusual although valid in that a country may have to manipulate its currency in order to maintain a commitment to a fixed exchange rate. 
AO4: 2












This is a very good answer showing a good understanding of currency manipulation linked effectively to the criteria. 



A good diagram is used to support the answer which is referenced in the text. 







8 marks.



The candidate makes two sound evaluative points. 



Borlel

Sticky Note

This answer is worth full marks because the candidate has used his/her knowledge of exchange rates to unpick the question.
AO1: 2 
AO2: 2
AO3: 2 
AO4: 2
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28. 	The US has recently accused a number of countries of keeping their exchange rates below their 


free market level. The US has chosen three criteria to use in order to help identify countries 
which may be using unfair currency manipulation against the US. These criteria are that the 
country has:


	 (1)	 a trade surplus of larger than $20 billion.
	 (2)	 a trade surplus with the U.S. that is more than 3 percent of that country’s own GDP.
	 (3)	 engaged in “Persistent one-sided intervention” in currency markets, defined as purchases  


	 of foreign currency amounting to more than 2 percent of the country’s GDP in a one-year  
	 period.


	 Five countries (China, Japan, Korea, Taiwan and Germany) currently meet two out of three of 
these criteria.


	 Discuss how likely it is that a country meeting any two out of the three criteria above is 
manipulating its currency unfairly.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


END OF PAPER
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